Review for the GAT Mid Term 
1.  Given:  A = 
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  Find:

a.  A
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B

b.  A
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B

c.  C
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d. .  A
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e.  (B
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2.  On a coordinate line the points P, Q, R, S and T have coordinates 2, -1, 0, -3, and 4 respectively.  Indicate whether the following statements are true or false.

a.  SQ = QR

b.  RP = SQ

c.  QP = PQ

d.  SQ = PT

E.  QS + SR = QR

3.  The coordinate of the midpoint of 
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 is 4.  Find the coordinate of point C if the coordinate of point D is as follows:

a.  -3




b. 9




3.  3 times the coordinate of C

4.  Using the diagram below, determine whether each of the following statements are true or false.
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a.  
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b.  
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c.  
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d.  
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5.  If two lines intersect, their intersection is a ___________________.

6.  If two planes intersect, their intersection is a ______________________.

7.  If a plane and a line not in the plane intersect, their intersection is a ___________________.
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8. Which of the shaded regions, if any, is not convex?
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10.  Referring to the diagram, complete each of the following so that a true statement results.  If none of the points labeled in the diagram satisfies the condition, 
write none as you answer.
a.  Points A, P, and ________ are collinear

b.  Points D, P, and _______ are collinear

c.  Points C, A, B, and __________ are coplanar
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11.  Complete with either:  supplementary angles, adjacent 

angles, complementary angles, vertical angles

a. 
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MBD and 
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CBE are ________________
b.  
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FBC and 
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MBD are ___________________

c.  
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DBF and 
[image: image31.wmf]Ð

FBE  are ____________________

12.  With the given information, tell why these triangles are congruent and give the correct correspondence
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13.  Given:  A, B, F, and R are collinear


AF = RB
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        Prove:  AN = RH

[image: image117.wmf]CD

[image: image118.emf]mACB = (10x + 12)

(5x - 2)

(3x + 14)

A

B

C

D

E


[image: image119.emf]Q

P

A

E

D

B

S

R

14.  
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a.  
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APQ and 
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PQB are a pair of _________________ 

and therefore they are _____________________

b.  
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EPQ and ___________ are a pair of alternate

interior angles

c. 
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RPE and
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PQB are a pair of ______________ angles

and therefore they are ________________________

d.  
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RPA and
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_____ are a pair of corresponding angles.

e.  
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APQ and 
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PQD are a pair of _____________angles

and therefore they are ______________________

f.  
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BQP and 
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______ are a pair of interior angles
15.  Find a value of x so that l1 ║l2
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16.  Given:
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 ║
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.  Find the value of x that makes the segments parallel and then use that value to find the measure of these angles.

a.  m
[image: image52.wmf]Ð

BAC = ______
b.  m
[image: image53.wmf]Ð

DCA = ______



c.  m
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ACB = ______
d.  m
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DCE = ______

e.  m
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CBA = ______
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17.  Given: AD = AE, 
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       Prove:  
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18.  Find the measure of the numbered angles.

a.  m
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1 = ____ 

b.  m
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2 = _____

c.  m
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3 = ____ 

d.  m
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4 = _____

e.  m
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5 = ____ 


19.  For which of the quadrilaterals – rectangle (R), square (S), rhombus (Rh), parallelogram (P)—can each of the following properties be proved?

a.  Both pairs of opposite angles are congruent

b.  Both pairs of opposite sides are congruent

c.  Each diagonal bisects two angles


d.  The diagonals bisect each other

e.  The diagonals are perpendicular

f.  Each pair of consecutive angles are supplementary

g.  Each pair of consecutive sides are congruent

h.  The diagonals are congruent

i.  Each pair of consecutive angles are congruent


20.  ABCD is a parallelogram with altitude
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21.  Find the area of a regular hexagon
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22.  What is the area of this isosceles trapezoid?


23.  Find AB and BC
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24.  Which of the diagrams below represent polygons?  
Which, if any, represent convex polygons?
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26.  Given a regular 30 – gon.  Find the following:

a.  measure of an exterior angle
 
b.  measure of an interior angle

c.  measure of a central angle

d.  sum of the measures of the exterior angles

e.  sum of the measures on the interior angles

27.  If the measure of an angle of a regular polygon is 162º, how many vertices does the polygon have?
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28.  The base of a regular pyramid is a square region whose sides have length 10 cm.  If the height of the pyramid is 12 cm, find

a.  the total surface area of the pyramid

b.  the area of a cross section whose distance 






from the base is 3 cm

29.  The boundary of the base of a pyramid is an equilateral triangle.  Each side of the triangle has length 6 cm and the height of the pyramid is 4 cm, find the volume of the pyramid.

30.  Find the volume and total surface area of this right triangular prism.
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31.  Given point 
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 where A(23, 98) and B(-12, 87).  Find the following:
a.  Distance between A and B

b.  Slope of 
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c.  The equation of a line that contains 
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32..Given 
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 where point C(2,2) and point D(4,5), take these points through the given image formulas and tell the transformation that occurred.
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a.  (x,-y)

  b.  (y,-x)


c.  (x -3, y + 2)
        d.  (-y,-x)

33.  A composite of two reflections over two _____________ lines produces a ________________.

The magnitude of the slide is ________ the distance between the two ____________ lines.

The ___________________________is determined by mapping the first line of reflection onto the second line of reflection  

34.  A composite of two reflections over two intersecting lines produces a _______________.  The direction is determined by the mapping of the ________________ to the ____________________.  The magnitude is __________________________________.
35.  When an object is sized by a scaling factor of c, linear measurement changes as a factor of ____, area changes as a 
factor of _________, and volume changes as a factor of ___________
36.  If a triangle is translated by this image formula (x + 6,y – 9), what is the magnitude of the translation?

37.  What transformation occurred with this composite? 




 ry = x ∘ rx = 0 (
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39.  Identify these transformations.  The shaded is figure is the image of the non shaded figure.
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40.  Whenever a unique value (one and only one) value of y can be found for each value of x,

 y is said to be a ____________of x.  The ____________of a function is the set of values of the independent variable (x).  The _____________ of a function is the set of values of the dependent variable (y) corresponding to all values of the independent variable (x) in the domain.

41.  Are these functions?  If they are, what is their domain and range?
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42.  If g(x) = 2x + 6 and    f(x) = x2     Find:

43.  Write the equation of a line with slope 12 that contains (-8,7)
a.  g(3)  
b.  g(f(2))
c.  f(g(x))

44.  Write the equation of this line   45.  Graph y = -x

46.  Graph y = -3
47.  Graph  y – 3 = 
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48.  Give and example of an irrational number.   _________  It is a subset of what set? ___________
49.  Graph each of these conditions on a number line.

a.  
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b.  x > 3 and x 
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           c.  x > 3 or x 
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         d.  3 
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 x < 5
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50.  Given:  y – 5 = -9(x + 4)  Give:
51.  Give the slope of each segment and the units of the slope.  What does the                        





slope represent in each case? 
a.  Slope

b.  A point on the line

c.  x intercept

d.  y intercept

e.  Does the line contain the origin? 
52.  Given 
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53. In a study investigating the effect of car speed on accident severity, 5000 reports of fatal automobile accidents were examined, and the vehicle speed at impact was recorded for each one.  It was determined that the average speed was 35 mph and that the standard deviation was 10 mph.  A histogram revealed that the distribution was normal.
A.  Roughly what percent of vehicle speeds were 

B.  Roughly what percent of vehicle 

between 25 mph and 45 mph? SHOW YOUR WORK

speeds exceeded 55 MPH?

54.  Give the five number summaries from the box plot.  Do you know the value of the mean?  Describe the distribution of the histogram.  Are these displays from the SAME data?  How do you know?
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55.  “If two angles form a linear pair, then they are supplementary”    True or False

Write the converse:



                                                                                True or False

Write the contrapositive:









   True or False

Write the biconditional:









   True or False

56. The condition and its converse must be true for the ________________ to be true

     The condition and its _____________________ have the same truth value
57. For ▲ ABC and ▲ XYZ, 
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.   Why are the two triangles similar?  Give the correct correspondence.  Which angles are congruent?

58.  First state which triangles are similar using the correct correspondence and WHY you know they are similar and then find the missing sides.
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9.  If two lines � EMBED Equation.3  ��� and � EMBED Equation.3  ��� intersect at E, is it necessarily true that A-E-B (point E must be between points A and B) and C-E-D (point E must be between points C and D)? Draw a diagram.
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Find the area of the parallelogram


AB = 10, AD = 4 and m� EMBED Equation.3  ���A = 30º





with a side of 18 cm.





25.  a.  Are all the sides of a regular polygon    necessarily congruent?





       b. Are all the angles of a regular polygon necessarily congruent?





        c. Are there at least two parallel sides in every regular polygon?





38. What transformation occurred with this composite?  Give the image formula for this composite.  


rx = 8 ∘ rx = 12 (� EMBED Equation.3  ���ABC)
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